7138 e Rk S #] 9 (] - )
2 o) 1=

Hopn igg ?};3 fg PRSI CRpE RS 2A4Z7 | A5 3 A
a7 7,739,058 51,180,007 58,919,065
s 7,552,373 48,562,925 56,115,298
ol xZT SIS 6,391,080 47,241,915 53,632,995
AAAAL & 420 47,421 47,841
A A F s} 420 30,206 30,626
22 Ad29 9 420 1,216 1,636
1. 2&FTFEAATARAF 420 1,216 1,636
| 7h WA A S 420 1,216 1,636
D AEAR 210-01 |520,0009 — <71%>100,0009 = 420 100 520
S R ] 39,150 2,222,038 2,261,188
EE=PAPARTIE- b 5,100 87,792 92,892
Ea=loun ol i 5,100 87,792 92,892
1. 7128 33 ¢ 5,100 55,000 60,100
7}, 82l 2] 9 A E 9o 5,100 55,000 60,100
1) <9 1,500 2,870 4,370
P L3 gx 210-01 |2,950,000¢1 — <7]1%>1,450,0009 = 1,500 1,450 2,950
2) 7] %383 & Aol n) 3,600 4,000 7,600
7H By 220-01 |3,200,000¢1 — <7]1%>1,600,0009 = 1,600 1,600 3,200
W} = 220-01 |4,400,0009 — <71%>2,400,0009 = 2,000 2,400 4,400
SHEEgsAY 34,050 73,815 107,865
s Sgs 34,050 16,640 50,690
1. 5EE885Z2 0889y 34,050 0 34,050
7}, St A~ E Y 34,050 34,050
1) =4 28,305 28,305
b S e= 210-01 |50,0009 X 6% x 103]= 3,000 3,000
) el7]4=An) 210-01 |181,0009 x53]|= 905 905
th) A (AR 13,600 13,600
(1) 7)1 & 210-06 |160,0009 x 2% x 203] = 6,400 6,400
(2) =¥ 210-06 [90,0009 x 27 x 247k x 203] = 7,200 7,200
2}) 7+-An) 210-12 |3,0009 x 659 x 203] = 3,900 3,900
n}) & o) 3] n) 230-02 |15,0009 X 107 x 23] = 300 300
vh) k7] 4-]) 8] 430-01 [600,0009 x 11%F= 6,600 6,600
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Abd A5 AEUS FHs4 7174 oAkl
2) AAF3 2,715 2,715
7H +98F 210—01 |50,0009 xX10%= 500 500
) g =214z 210-01 |3,000¢ X 400%-= 1,200 1,200
th) =}kl w 210-07 |300,000¢ x 1tj= 300 300
g}) 21H) 210-12 |8,0009 X654 = 520 520
ul) 7F21H) 210-12 |3,0009 X654 = 195 195
3) o3zt 3,030 3,030
7h) =l ats 210-07 |800,000¢ x 2] = 1,600 1,600
) 21H) 210-12 18,0009l X657 x 23] = 1,040 1,040
th 7HAlH) 210-12 |3,0009 x65% x 23] = 390 390
4,880 2,244,920 2,249,800
4,880 114,950 119,830
golgdFUSEx 7 4,880 0 4,880
. E3 A SR 4,880 0 4,880
b &3 g o= 4,880 4,880
1) £998&% 210-01 |50,00094X10%= 500 500
2) ZFAFT (A 210-06 |100,0009 x 1% x 23] = 200 200
3) A=A xE 210-07 |450,0009 x 1t} x 23] = 900 900
4) 71ekl =5 210-07 |400,000¢ x 23] = 800 800
5) A1) 210-12 |8,000¢9 x40 x 23] = 640 640
6) 7F2n) 210-12 |3,0009 x40 x 23]= 240 240
7) A& 210-15 |20,00091 x40 x 23] = 1,600 1,600
1,138,755 4,146,062 5,284,817
1,138,755 4,139,934 5,278,689
A41,051 3,889,544 3,848,493
BASAH A Y 240,292 3,481,578 3,441,286
Foox9 A15,409 222,681 207,272
1) 29 620-03 |156,143,0009 — <71%>144,481,000 11,662 144,481 156,143
2) AH 620—-10 |51,129,0009 — <71%>78,200,0004= A27,071 78,200 51,129
U 258y 620—03 |1,130,446,000€ — <7]%>1,130,867,000¢ = A421 1,130,867 1,130,446
ot} Z8kw 23,031 820,927 843,958
1) 29 620-03 |262,739,0009 — <71%>272,131,0009 = A9,392 272,131 262,739




7|88 AlE4E WA
ARty B = AR S A S R (k] - xd9)
2 o 1=]

gopzg 22| B3| 2% Aol %A% e N 357 | AR | @
2) A+ 620—-10 581,219,0009 — <717>548,796,0004 = 32,423 548,796 581,219
gt 15y A12,882 852,558 839,676
1) 29 620-03 514,025,0009 — <7174>517,722,0004= A3,697 517,722 514,025
2) A 620—-10 325,651,0009 — <71%>334,836,0004 = 29,185 334,836 325,651
up, p =g A A8 A A34,611 454,545 419,934
1) 29 620-03 231,526,0009 — <71%>283,216,0004 = A51,690 283,216 231,526
2) A 620-10 | 188,408,0009 — <714>171,329,000¢= 17,079 171,329 188,408
2. A8 AEAEXY AT59 378,638 377,879
7F x4 A1,152 19,254 18,102
1) 29 620-03 13,645,0009 — <7174>12,607,0004 = 1,038 12,607 13,645
2) A 620—10 |4,457,0009 — <71%>6,647,0009= ~2,190 6,647 4,457
o 620-03 108,918,0009 — <71%>108,778,000d = 140 108,778 108,918
o, s 2,160 78,957 81,117
1) 29 620-03 24,545,0009 — <7]174>25,436,0009 = A891 25,436 24,545
2) A 620—10 |56,572,0009 — <71%4>53,521,0009= 3,051 53,521 56,572
g 1S58k A1,091 81,649 80,558
1) 29 620-03 149,060,0009 — <7]174>49,262,0004 = A202 49,262 49,060
2) A= 620-10 131,498,0009 — <7174>32,387,0004 = A 889 32,387 31,498
nh, A EAE 2712 Y A816 90,000 89,184
1) 29 A863 5,663 4,800
7H 9 620-03 3,620,000 — <7]17%>3,708,0009 = A88 3,708 3,620
) A 620-10 1,180,0009 — <717%>1,955,0009 = ATT5 1,955 1,180
2) 25w 620-03 [34,242,0009 — <7]1%>33,575,0009 = 667 33,575 34,242
3) 31 A437 23,742 23,305
7H 9 620-03 6,872,0009 — <717%>7,443,0009 = A571 7,443 6,872
wh) A 620-10 16,433,0009 — <7]174>16,299,0004 = 134 16,299 16,433
4) 18w A183 27,020 26,837
7H 39 620-03 16,337,0009 — <7]14>15,822,0004 = 515 15,822 16,337
) A 620-10 10,500,0009 — <717>11,198,0004 = A698 11,198 10,500
stw AR MNA 1,179,806 250,390 1,430,196
1. S FA 7| FUA A EgE 1,179,806 250,390 1,430,196
7h w2 7] A 179,031 232,390 411,421
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e AEZHE YA

9
AU S =7 = AFEU S FA7 7173 S| Ak b Al

1) 258k 620—04 |177,044,0009 — <714>111,003,00094 = 66,041 111,003 177,044
2) T 31,682 18,849 50,531
7H 3 620-04 |29,180,0009 — <714>1,450,000¢] = 27,730 1,450 29,180
) A 620—11 |21,351,0009 — <71%>17,399,0008 = 3,952 17,399 21,351
3) 1=k 81,308 102,538 183,846
7 =29 620—04 88,219,000 — <71%>34,220,0008 = 53,999 34,220 88,219
) A 620-11 |95,627,0009 — <714>68,318,0008= 27,309 68,318 95,627
U, FAA A Y 5} 941,234 18,000 959,234
1) 23748 A 236,456 236,456
7h) Fobx 10,636 10,636
(1) AAn) 420-02 |7.636,0009 x 121 = 7,636 7,636
(2) 7)o AN 620-03 |3,000,0009 x 12] = 3,000 3,000
W) Exx 142,536 142,536
(1) AAn] 420-02 |6,567,0009 x 12] = 6,567 6,567
(2) A)An] 420-03 |132,137,0009 x 121 = 132,137 132,137
(3) A Htn] 420-05 [832,0009 x 14 = 832 832
(4) HL IEShE] 620—-03 |3,000,000¢ x 1 4] = 3,000 3,000
oh) Folx 68,887 68,887
(1) gyﬂu] 420-02 |3,007,0009 x 12 = 3,007 3,007
(2) A1) 420-03 |60,499,0009 x 14]= 60,499 60,499
(3) A ¥ 420-05 |381,0009 x 14]= 381 381
(4) 7]7o)Adn] 620-03 |5,000,0009 x 12 = 5,000 5,000
2hH M 7,075 7,075
(1) AAn) 420-02 |4,075,0009 x 12 = 4,075 4,075
(2) 7]17+o]dn] 620—03 |3,000,000¢ x 12]= 3,000 3,000
nh) ZZAEaFE] 7,322 7,322
(1) AAm 420-02 |4,322,0009 x 14 = 4,322 4,322
(2) 7]5-0] A n] 620-03 |3,000,0009 x 121 = 3,000 3,000
2) 2 AA7] S A 700 700
7h) A1) 62004 |700,0009 X 14]= 700 700
3) WM& x 7] o] Adn] 620-03 |2,300,0009 x 12 = 2,300 2,300
4 ALEAADREFR 2 AL (7] A AN D) 281,903 281,903
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18 AEZHEY A
ARty B = AR S A S R (el - A )
2 [e) 1=}
gopzg 22| B3| 2% RESHE Sy Ao 24 AR | @)
7H A AN 420-02 12,463,0009 x14] = 12,463 12,463
) Al AdH] 420-03 |264,497,0009 X 14 = 264,497 264,497
o) A K n) 420-05 1,943,0009 x14] = 1,943 1,943
g}) 7] o] Adn] 620-03 3,000,0009 x 14] = 3,000 3,000
5) FotAd uA e 2l 419,875 419,875
7H A AN 420-02 392,874,0009 X 4.97%= 19,526 19,526
wh) A]Adn) 420-03 |3,582,00049 X 182.8m' X 60% = 392,874 392,874
th Al HEun] 420-05 392,874,000 X0.6299%= 2,475 2,475
2} 7] o] Adn] 620—03 |5,000,000¢ x 14 = 5,000 5,000
(= = AR PRSI R RS 59,541 59,541
1) =53 620—-03 |23,108,000¢1= 23,108 23,108
2) F38hi 13,608 13,608
7hH 39 620-03 | 13,608,0009= 13,608 13,608
3) 158w 22,825 22,825
7H 39 620-03 22,825,0009= 22,825 22,825
8w A A ) Y Bz 667,803 15,099,865 15,767,668
TR R | 275,770 6,837,803 7,113,573
st - FH| X ¥ 275,770 6,837,803 7,113,573
1. St 7| 2891 90,744 6,627,803 6,718,547
7h S&x¢ 620—02 |891,498,0009 — <717%>883,915,0009 = 7,583 883,915 891,498
1/].‘ }_%—Q—ﬂ 620—-02 14,281,338,000¢ — <7]1%>4,242,950,000 = 38,388 4,242,950 4,281,338
t} =38kw 620—02 |1,545,711,0009 — <71%4>1,500,938,000¢ = 44,773 1,500,938 1,545,711
2. Bt 7|l gn| x4 185,026 210,000 395,026
7}, w2raks o] A A 185,026 40,000 225,026
1) 258w 620—04 |165,026,0009 — <71%>40,000,0001 = 125,026 40,000 165,026
2) =8 620—04 |60,000,0009= 60,000 60,000
AL A X 392,033 8,262,062 8,654,095
QA AP A A A 53,308 7,007,445 7,060,753
1. 9AR AR AT R E 53,308 7,007,445 7,060,753
7h dxdnA 620-08 |7,060,753,0009 — <7|4>7,007,445,00091= 53,308 7,007,445 7,060,753
LG AA AT Y 338,725 1,254,617 1,593,342
|1, LG AAASTR X 37,421 1,145,771 1,183,192
TS — GoldxFEas — sugEday — A AL — S-dn QA A=A




7|8 AlEZ5 UG A
7187 - AR R Qw2 A G
74 o) 1=
gopzg 22| B3| 2% ESIE Bz Azl 2427 | AgAue | @
7} S| 2] 620—09 |1,183,192,0008 — <714>1,145,771,0008 = 37,421 1,145,771 1,183,192
2. AH 7| ER- g H| A d 301,304 108,846 410,150
7}, mest ol ANA 301,304 108,846 410,150
1) =38Fw 620—11 |295,650,0009 — <71%>55,896,000¢ = 239,754 55,896 295,650
2) 1158 620-11 |114,500,0009 — <7]1%>52,950,0009 = 61,550 52,950 114,500
St A ANA 4,540,072 23,481,609 28,021,681
St A AN 4,540,072 23,481,609 28,021,681
STWA| LA N 4,540,072 13,312,415 17,852,487
DAL 715,991 2,121,207 2,837,198
7h, w4 258,000 258,000
1) A1AH] 258,000 258,000
7 ek x (A4 420-03 |11,230,0009 x12.02134 = 135,000 135,000
) Hor= (24 420-03 |11,230,0009 X 10.952841 = 123,000 123,000
(BRI R= SR 62,460 62,460
1) A1AH] 62,460 62,460
71 e x 420-03 |20,830,0009 x 2.998554] = 62,460 62,460
o} 9] -5 WA 92,540 92,540
1) Al4dH] 92,540 92,540
7H 8 x(EY4W) 420-03 |3,840,0009 x 144 = 53,760 53,760
W) Y= (EH 420-03 [2,770,0009 X 142 = 38,780 38,780
2f, W 44,920 344,782 389,702
1) Al4dn] 44,920 342,010 386,930
7h AMee+AE (&) 420-03 [11,230,0009 x 24 = 22,460 22,460
) FebdE (54 420-03 |11,230,0009 x 24 = 22,460 22,460
vl vpe RS 37,524 281,843 319,367
1) Al4dn] 37,524 261,760 299,284
7H 49 x 420-03 [20,830,0009 X 1.801444 = 37,524 37,524
uf, wA g 2 107,650 107,650
1) A1AH] 107,650 107,650
7H FEx 420-03 107,650,000 x 1= 107,650 107,650
Ab BRA ST A A g L ] 28,675 28,675
1) AAn] 420-02 1469,324,0009 X6.1097 %= 28,675 28,675
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N AEzHEY A

(9] 4D

AU S = Ay FA7 7179 of| Ak <8 st A
of, F-Qt a1 7] & A4 84,222 84,222
1) A An] 420-02 12,260,650,0009 X 3.72556%= 84,222 84,222
2. YA A A 32,080 108,867 140,947
7t ) 32,080 108,867 140,947
1) Al4dn] 32,080 99,400 131,480
7h) A= 420-03 |8,020,0009 x 421 = 32,080 32,080
3. Al A 1,212,962 3,083,662 4,296,624
7b E2toln| E A (9 BH) 758,716 758,716
1) Al4dn] 758,716 758,716
7hH BB % (E0E) 420-03 |21,466,0009 X 6.80145% = 146,000 146,000
W) S XA R 4D 420-03 [21,466,0009 x4.039694 = 86,716 86,716
o) HelbE (EdE) 420-03 21,466,000 X 9.50344 = 204,000 204,000
) ExF(Eds) 420-03 |21,466,0009 x 15.000464 = 322,000 322,000
U =gtoln| Ew A (2] H K ) 378,982 1,963,413 2,342,395
1) A1AH] 378,982 1,910,474 2,289,456
h BB % (EDE) 420-03 |21,466,0009 X 3.19854 2] = 68,660 68,660
W) SXxAAE8R 4 420-03 [21,466,0009 x2.9603% = 63,546 63,546
oh) Hets (E3-s) 420-03 21,466,000 X 4.496594 = 96,524 96,524
) =X (E4s) 420-03 |21,466,0009 X 6.999534 = 150,252 150,252
o} b (A, &4 33 75,264 5,880 81,144
1) Al7dH] 75,264 5,880 81,144
7hH FRAE(E) 420-03 |147,0009) X 188m= 27,636 27,636
W) =3 (A 420-03 |147,0009 X 262m= 38,514 38,514
h A8 (A 420-03 |147,0009 X 62m= 9,114 9,114
4. F-FAANA 287,440 672,274 959,714
7 B9 7k A A 250,000 250,000
1) A1AH] 250,000 250,000
7hH e rE 420-03 |250,000,0009 X 14 = 250,000 250,000
u mEAA 37,440 37,440
1) Al4dn] 37,440 37,440
7hH HAE 420-03 |37,440,0009 x 12]= 37,440 37,440
5. 471X A 38,640 140,520 179,160
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AebE kw4493 (9] - <)
o)
e | sa | RS 2= RENE 2427 | AR | @)
7} 2 A4 (LED) 38,640 104,880 143,520
1) A1AH] 38,640 104,880 143,520
7 HARE 420-03 [2,760,0009 x 142 = 38,640 38,640
6. XA SA (AFE) 255,000 2,336,652 2,591,652
AR R =n- R 255,000 255,000
1) A1AH] 255,000 255,000
7H FEE 620—11 |26,730,0009 x9.539814 = 255,000 255,000
7. AR AUEAZ 1,997,959 3,291,158 5,289,117
7V AXZIARTNE A538,088 742,788 204,700
1) A4 420-03 |204,700,0009 — <718>742,788,0009 = A538,088 742,788 204,700
IR R o 1,486,047 1,533,255 3,019,302
1) AlAH] 420-03 [3,019,302,0009 — <714>1,533,255,0009 = 1,486,047 1,533,255 3,019,302
FduEdEe| nds 1,050,000 1,015,115 2,065,115
1) A]AdH] 420-03 |2,065,115,0009 — <71%>1,015,115,0009= 1,050,000 1,015,115 2,065,115
A 600 0 600
P TS 600 0 600
B NEES 600 0 600
FAARSA AL LY 600 0 600
1. 725239439 600 0 600
7} A 210-06 [100,0009 x 6% = 600 600
ZSYnk 1,160,693 1,321,010 2,481,703
A= eI ] 207,742 897,166 1,104,908
AP FaE 9,402 4,932 14,334
ZAFEE 9,402 4,932 14,334
1. AAZAT 900 2,100 3,000
7} A ] 250-04 |1,800,0009 — <7]18>900,0009= 900 900 1,800
2. Folx 9 A o] A 7}3} 8,502 2,832 11,334
7 . HEH S 8,502 1,812 10,314
1) A=A =k 210-01 8,110,0009 — <714>610,000¢ = 7,500 610 8,110
2) ZAAa e (dRh 750 750 1,500
7H 71 & 210-06 960,000 — <7]%>480,00094= 480 480 960
W) =3t 210-06 |540,0009 — <71%4>270,0009= 270 270 540
FAd - wFFF LR — TAPR e - Ak




=9 RES =g AE = =) 7] A of Ak oH 3 7
A]"ﬁ A]"ﬁ - - v = T m (¢} o
3) 9 210-06 |504,0009 — <71 8>252,0009 = 252 252 504
A& 113,840 141,812 255,652
FTHAAALEEH 113,840 141,812 255,652
1. 9 #e 113,840 43,000 156,840
7}, ¥ =) 210-09 |33,000,0009 — <7]4>16,000,0004= 17,000 16,000 33,000
U, A 7 420-03 |4,0009 % 4,359.1m'= 17,437 17,437
o}, 9 7FvE A e 2] 99 79,403 27,000 106,403
1) =4 3,800 10,800 14,600
7h ARk 210-01 9,800,000 — <7]1%>6,000,0009 = 3,800 6,000 9,800
2) A 35,000 12,300 47,300
7 staxA 210—09 |10,000¢ X500F= 5,000 5,000
W) AR 210-09 32,000,000 — <714>2,000,000¢ = 30,000 2,000 32,000
3) LELoF 1,200 3,900 5,100
7h A7 210-02 |2,400,0009 — <7]1%>1,200,0009 = 1,200 1,200 2,400
4) wEAAE 39,403 39,403
7H 420-03 |22,452,0009 X 0.29894] = 6,711 6,711
) 420-03 |14,473,0009 x 2.258841 = 32,692 32,692
A uj| X] A 3 84,500 591,996 676,496
St e x| A 2 e 4,500 511,996 516,496
1. A H ] 4,500 1,730 6,230
7). AA 4,500 4,500
1) & 210-01 |50,00091 x 4% x 93] = 1,800 1,800
2) A 210-06 60,0009 x 2% x 98] = 1,080 1,080
3) 3 230-02 |15,00091 X 12% x 93] = 1,620 1,620
AT TS 80,000 80,000 160,000
1. A8+ 80,000 80,000 160,000
7 = 80,000 80,000 160,000
1) 620-03 80,000,000 — <71%>40,000,0004= 40,000 40,000 80,000
2) & 620-03 |80,000,0009 — <7]%>40,000,0004= 40,000 40,000 80,000
952,951 423,844 1,376,795
71 B-$-n) 63,911 413,644 477,555
71 BB 63,911 413,644 477,555




7|88 AlE4E WA
AR s B Rt ety S) ks S R (2] = 9
2 o 1=]

gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
1. 7|2 g FZ=21) 400 32,780 33,180
7}, 7187 289 1) 400 32,780 33,180
1) YA F-F=21H) 230—-03 |5,280,0009 — <71%>4,880,0009= 400 4,880 5,280
2. BA 71297 20,468 150,468 170,936
7}, wS5-A) A 9,312 64,440 73,752
1) ¢lHFS-odn] 832 7,856 8,688
7H 210-01 |7,488,0009 — <71%>6,656,0009= 832 6,656 7,488
2) S 2n] 210-05 |6,464,0009 — <71%>5,504,0009 = 960 5,504 6,464
3) = odn] 7,280 42,560 49,840
7H ) 220—-01 |16,800,000¢1 — <71%>16,000,00091= 800 16,000 16,800
wh) =4 220-01 23,440,0009 — <7]174>19,840,0004 = 3,600 19,840 23,440
o) E9 220—-01 |9,600,000¢1 — <71%>6,720,00091= 2,880 6,720 9,600
4) F-A&%94 731 240 4,920 5,160
7V 7R 210—15 |360,0009 — <7]14>120,000¢ = 240 120 360
L A ¥ 11,156 86,028 97,184
1) Quk-eIn] 416 12,432 12,848
7hH s 210-01 |11,648,0009 — <714>11,232,000¢ = 416 11,232 11,648
2) EZuf2ln) 210—-05 |6,936,0009 — <71%>6,696,0009= 240 6,696 6,936
3) =i 10,500 50,220 60,720
7H Zy 220-01 |19,860,0009 — <71%>19,440,0009= 420 19,440 19,860
) Z 220—01 |25,040,0009 — <714>19,440,000¢ = 5,600 19,440 25,040
) 9] 220—-01 |15,820,000¢ — <71%>11,340,0009= 4,480 11,340 15,820
3. 71#-eGAn| 42,161 196,760 238,921
b ZEZQFUAA 17,161 62,005 79,166
1) A7) 9+ 210-02 |50,100,00091 — <71%>33,600,00091= 16,500 33,600 50,100
o) At o= 210—-02 |4,501,000¢9 — <71%>3,840,0009= 661 3,840 4,501
U, H AL 25,000 61,788 86,788
1) AR KBS 210—-09 |61,288,000¢9 — <71%>36,288,0009= 25,000 36,288 61,288
4, 7|EIAN 224 882 33,636 34,518
7} A Eord HLe-Y 882 33,636 34,518
D F38aLAA 882 15,584 16,466
7H A7NeFE 210-02 |9,282,0009 — <71%>8,400,0009= 882 8,400 9,282
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718 AEZE YA
71389 Ae R ERtnSA 9 (2] = 9
Hopn igg ?};3 ﬂjz PRSI CRpE RS 2A4Z7 | A5 3 A
TS A7) AA A 889,040 10,200 899,240
E AR E 889,040 10,200 899,240
1. ZESAQAAA 889,040 10,200 899,240
7V, ISR LA A 372,170 372,170
1) A1Adn] 372,170 372,170
7h SEAFAA A 420-03 |107,650,0009 x 221 = 215,300 215,300
W) sl nds 420-03 |104,580,0009 x 1.5 = 156,870 156,870
L, A Z ok Al 516,870 516,870
1) A]Adn] 516,870 516,870
7H W (24 420-03 |11,230,0009 x 241 = 22,460 22,460
W) o] F-A s w A 420-03 [25,810,0009 x 74 = 180,670 180,670
b spdAdE na gy 420-03 |104,580,0009 x 34 = 313,740 313,740
of v v] 96,192 0 96,192
o 1] vl 96,192 0 96,192
ofu] v g7 ek 96,192 0 96,192
‘oq]H]H]‘;-lﬂE]- 96,192 0 96,192
AAETT 96,192 0 96,192
1. AX &=+ 96,192 0 96,192
7 A AR A B2 3] 3 gkt gk 96,192 96,192
1) 871232829 710-02 196,192,0009= 96,192 96,192
7€} 90,493 2,617,082 2,707,575
Q1 AH] 90,493 2,617,082 2,707,575
Q1 AN 90,493 2,617,082 2,707,575
Z 221 AN 90,493 2,617,082 2,707,575
NSEFFA LA AN 90,493 2,617,082 2,707,575
1. A& 2EA g An B 90,493 2,617,082 2,707,575
7}, W EA FE Aol A ) 32,117 1,571,657 1,603,774
D 715 110-04 |823,058,0009 — <7]14>806,976,000¢ = 16,082 806,976 823,058
2) 579 110-04 |251,501,0009 — <714>251,550,0009= ~49 251,550 251,501
3) NMESFY 110-04 |22,670,0009 — <71 4>19,680,000¢= 2,990 19,680 22,670
4) WAZIIR A E 110-04 |57,600,000¢ — <7]4>50,400,000¢ = 7,200 50,400 57,600
5) A7) 110-04 |36,000,000¢ — <71 4>32,400,000¢= 3,600 32,400 36,000
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719 AR et S A A% (9 -
[e) 1=}
gopzg 22| B3| 2% NESIE == BERE 2427 | ARAR | @

6) Ax 110-04 [62,133,00091 — <714>73,621,000¢ = A11,488 73,621 62,133
7) @rEE E 2| 240-02 30,700,0009 — <7]1%4>23,600,0004 = 7,100 23,600 30,700
8) B A A=+ 320—12 |111,989,0009 — <71%>107,036,00091 = 4,953 107,036 111,989
9) 4RV ARG 320—12 |147,643,000¥ — <7174>145,914,0009 = 1,729 145,914 147,643
. 2}8kA FAFol 74 1) 1,680 54,194 55,874
D 7135 110-04 |23,016,0009 — <7]1%>22,416,000¢ = 600 22,416 23,016
2) 7159 110-04 |1,750,0009 — <71%>1,220,000¢] = 530 1,220 1,750
3) HEZIIE A 110-04 |1,600,000¢1 — <717%>1,400,000¢1 = 200 1,400 1,600
4) A7) F 110-04 |1,000,000€ — <71%>900,000¢1= 100 900 1,000
5) k=3 E 2 n) 240-02 |1,000,000¢1 - <7]14>750,000¢ = 250 750 1,000
o}, e R 3] A 2l A n] 48,600 48,600
1) 2259 110-04 |6,826,00091 — <717%>7,076,000¢1 = A250 7,076 6,826
2) k=3 H 24 240-02 1,000,0009 — <7]1%>750,000¢4 = 250 750 1,000
g}, AP FEALol A H] 39,548 39,548
1) BEF7IRAF 110-04 |1,300,000¢1 — <717%>1,400,000¢1 = A100 1,400 1,300
2) 43 H 2)n) 240-02 650,000¢1 — <71%4>550,000¢1 = 100 550 650
vl wjgdol AN (w52 LH) 16,156 25,282 41,438
1 7135 110-04 |28,051,0009 — <714>16,812,0009= 11,239 16,812 28,051
2) F24H) 110-04 |2,940,0009 — <71%>1,680,000¢4 = 1,260 1,680 2,940
3) WAS/IRAFE 110-04 |2,400,000¢9 — <7]1%>1,400,0009 = 1,000 1,400 2,400
4) AN 110-04 |500,000¢1 — <7174>300,000¢1 = 200 300 500
5) k=3 H 7)1 240-02 |2,000,0009 — <7]14>750,000¢9 = 1,250 750 2,000
6) Ath e 7| ARG+ 320-12 2,680,0009 — <7]1%>1,473,00091 = 1,207 1,473 2,680
v, 1) gl An) (3Fa) 22,309 371,250 393,559
D 7135 110-04 |237,353,0009 — <7]1%>231,264,0009= 6,089 231,264 237,353
2) WAEIIR A+ 110-04 |19,800,000¢1 — <7]14>15,400,000¢= 4,400 15,400 19,800
3) A7 F 110-04 |7,700,000¢1 — <7174>3,300,000¢1 = 4,400 3,300 7,700
4) Ax5G 110-04 |13,860,00091 — <7]14>11,220,000¢= 2,640 11,220 13,860
5) k=3 E 2] n) 240-02 17,100,0009 — <7]14>14,740,0009 = 2,360 14,740 17,100
6) B &A=+ 320—-12 |37,620,0009 — <7]%>35,200,0009 = 2,420 35,200 37,620
A}, B8 Aok A X EAFQI A K] 18,231 382,101 400,332
1) 7182 110-04 |201,390,000¢ — <71%>196,140,0009 = 5,250 196,140 201,390
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=] = o =]
gopzg 22| B3| 2% RESHE Sy Ao 24 | Ae
2) ==t 110-04 |9,520,000¢ — <7]%>8,800,000¢1 = 720 8,800
3) 4EFNR A 110-04 |18,900,0009 — <71%>14,700,0009 = 4,200 14,700
4) A7) o] = 110-04 |6,825,0009 — <7]1%>4,725,0009) = 2,100 4,725
5) uFEE) 2] 240-02 |18,200,0009 — <7]4>14,150,00091= 4,050 14,150
6) B A A= 320-12 |34,847,0009 — <714>34,242,00091 = 605 34,242
7) 4T) R E 7| PR 320-12 |35,087,0009 — <71%>33,781,00091= 1,306 33,781
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